
2016 STEP I Q2 

Let  𝑦 = (𝑎𝑥2 + 𝑏𝑥 + 𝑐) ln(𝑥 + √1 + 𝑥2) + (𝑑𝑥 + 𝑒)√1 + 𝑥2 

⇒  
𝑑𝑦

𝑑𝑥
= (2𝑎𝑥 + 𝑏) ln(𝑥 + √1 + 𝑥2) + (𝑎𝑥2 + 𝑏𝑥 + 𝑐) (

1+
𝑥

√1+𝑥2

𝑥+√1+𝑥2
) + 𝑑√1 + 𝑥2 +

𝑑𝑥2+𝑒𝑥

√1+𝑥2
  

⇒  
𝑑𝑦

𝑑𝑥
= (2𝑎𝑥 + 𝑏) ln(𝑥 + √1 + 𝑥2) +

(𝑎+𝑑)𝑥2+(𝑏+𝑒)𝑥+𝑐

√1+𝑥2
+ 𝑑√1 + 𝑥2  

 

Part (i) 

Consider when 𝑎 = 0,   𝑏 = 1,   𝑐 = 0,   𝑑 = 0,   𝑒 = −1 

𝑦 = 𝑥 ln(𝑥 + √1 + 𝑥2) − √1 + 𝑥2  and  
𝑑𝑦

𝑑𝑥
= ln(𝑥 + √1 + 𝑥2) 

Hence ∫ ln(𝑥 + √1 + 𝑥2) 𝑑𝑥 = 𝑥 ln(𝑥 + √1 + 𝑥2) − √1 + 𝑥2 + 𝑘 

Part (ii) 

Consider when 𝑎 = 0, 𝑏 = 0, 𝑐 =
1

2
, 𝑑 =

1

2
, 𝑒 = 0 

𝑦 =
1

2
(ln(𝑥 + √1 + 𝑥2) + 𝑥√1 + 𝑥2)  and  

𝑑𝑦

𝑑𝑥
= √1 + 𝑥2 

Hence ∫ √1 + 𝑥2𝑑𝑥 =
1

2
(ln(𝑥 + √1 + 𝑥2) + 𝑥√1 + 𝑥2) + 𝑘 

Part (iii) 

Consider when 𝑎 =
1

2
, 𝑏 = 0, 𝑐 =

1

2
, 𝑑 = 0, 𝑒 = 0 

𝑦 =
1

2
(𝑥2 + 1) ln(𝑥 + √1 + 𝑥2) and 

𝑑𝑦

𝑑𝑥
= 𝑥 ln(𝑥 + √1 + 𝑥2) +

1

2
√1 + 𝑥2 

⇒   ∫ (𝑥 ln(𝑥 + √1 + 𝑥2) +
1

2
√1 + 𝑥2) 𝑑𝑥 = 

1

2
(𝑥2 + 1) ln(𝑥 + √1 + 𝑥2) 

⇒   ∫ 𝑥 ln(𝑥 + √1 + 𝑥2) 𝑑𝑥 = 
1

2
(𝑥2 + 1) ln(𝑥 + √1 + 𝑥2) −

1

2
∫ √1 + 𝑥2 𝑑𝑥 

⇒   ∫ 𝑥 ln(𝑥 + √1 + 𝑥2) 𝑑𝑥 =
1

4
(2𝑥2 + 1) ln(𝑥 + √1 + 𝑥2) −

1

4
𝑥√1 + 𝑥2 + 𝑘  

 

 


